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3) Consider the foltowmg boundary/initial value problem.
Equation: U_=1,.+1U, '
BC.: T=0 at x=0
U=0 at »x=2
IC: U=fx) when t=0
U=g(x) wher 0.
Here U, U,, and U, are partial derivatives of U. If the solution is expressed as

oo
U=) R G, (1),
hat

please find out the expression of G,(t). (25%)

4) Consider
Rz (2- 1Y,
where ﬂ+i3r is"é‘éoiﬁplex variable. The Laurent expansion of f{z) with z=l+ias

the center can be expressed as f(z} E G, (z-14)" . If the region of convergence
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of this expansion is 1<‘z—1-:!< f_ , please find out the coefficients C, and C, . (25%)



